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Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Q1) A) Fill in the Blanks : [5]

a) The success of every business development depends on _____
communication.
i) Effective
ii) Staff
iii) Manager

b) _____ is the Written document in the form of message from one
person to another within the same organization.
i) Office Memo
ii) Press Report
iii) Press Release

c) _____ is an arrangement of connected computers all over the glob
for exchange of data.
i) Internet
ii) Hard Disk
iii) Pen Drive

SEAT No. :
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d) www stands for _____.
i) World Wide Web
ii) World Web Wide
iii) Web World Wide

e) Deleted emails are stored in _____.
i) Inbox
ii) Trash
iii) Sent

f) _____ letter is written to obtain information about business, Business
Firm etc.
i) Status Enquiry
ii) Complaint
iii) Sales

B) Match the following : [5]

Group ‘A’ Group ‘B’
a) WhatsApp i) Compose

b) Facebook ii) Pamphlet

c) Circular Letter iii) Foreign Trade

d) Import Export iv) Mark Zuckerberg

e) E-mail v) Launched in the year 2009
in India

Q2) Write short notes (Any 2) : [10]

a) Informal Report.

b) Google Class Room.

c) Order Letter.

d) Blog.
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Q3) a) What is ‘Report’? Explain in detail significance of report. [8]

b) What do you mean by ‘Facebook’? Explain in detail various advantages
and disadvantages of Facebook. [7]

Q4) a) Write a reply to enquiry letter on behalf of ‘Pune traders’, Bajirao Road,
Pune to the proprietor ‘Sai General Stores’ Nashik Road, Nashik about
the price and time of delivery of office Furniture. [8]

b) What do you mean by ‘Mail’? Explain various essential elements of mail.
[7]


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Q1) A) Fill in the blanks (Any 5 out of 7) [5]

i) Post-acquisition profit in subsidiary company is considered as
________.

(a. Revenue profit, b. Capital profit, c. Goodwill)

ii) Minority Interest is shown on _____.

(a. Cost of control, b. Liabilities side of Balance sheet, c. Revenue
profit)

iii) Liquidation is a ________ procedure by which the corporate life
of a company is brought to an end.

(a. Legal procedure, b. Social procedure, c. Financial procedure)

iv) Winding up by the order of court is known as ______.

(a. Compulsory winding up, b. Voluntary winding up, c. Winding
up by the order of court)

v) The accounting for absorption involves closing the books of
__________.

(a. Purchasing company, b. Vendor company, c. Transferee
company)

SEAT No. :
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vi) Purchase Consideration = _______ (-) Liabilities taken

(a. Assets taken. , b. Goodwill, c. Capital Reserve)

vii) ______ is a combination of accounting and investigative techniques
used to discover financial crimes.

(a. Financial Accounting, b. Cost Accounting, c. Forensic
Accounting)

B) True or False (Any 5 out of 7) [5]

i) Capital Reserve is shown on the Asset side of the consolidated
Balance Sheet in Holding Company account.

ii) Loss on revaluation of Fixed assets is a capital profit.

iii) General Reserve is transferred to the Preference shareholder’s
account.

iv) Purchase Consideration can be paid in the form of cash, Equity
Shares & Preference Shares.

v) Municipal Tax is a Preferential creditor.

vi) Liquidation of company means winding up of accompany.

vii) Pre-acquisition profit is known as Revenue Profit.

C) Match the pair : [5]

i) Bank overdraft a) Profit on revaluation of fixed
assets.

ii) Holding Company b) One liquidation and no
formation of new company.

iii) Absorption c) Preferential Creditors.

iv) Employees Dues d) Unsecured Creditors

v) Capital Profit e) Acquire more than 50% shares
from another company.
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D) Write short notes (Any 3 out of 5) [15]
i) Holding Company Account
ii) Voluntary winding up
iii) Method of Purchase Consideration
iv) Objective of Forensic accounting
v) Nature of Forensic accounting

Q2) H Ltd. Acquired Equity shares in S Ltd as on 1st April, 2021 Their Balance
Sheet as on 31st March, 2022 was as follows. [20]

Balance Sheet as on 31st March, 2022
Liabilities H Ltd S Ltd. Assets H Ltd. S Ltd.

(Rs.) (Rs.) (Rs.) (Rs.)
Share Capital Land & Building 1,00,000 20,000
Eq. shares of
Rs. 100 each 2,50,000 50,000 Plant &Machinery 1,50,000 30,000
General Reserve
(1/4/2021) 50,000 20,000 Stock 40,000 25,000
Profit and Loss A/c 70,000 25,000 Debtors 30,000 15,000
Creditors 30,000 5,000 Cash 30,000 10,000

Investment 50,000 -
(400 Shares of
S Ltd. at cost)

4,00,000 1,00,000 4,00,000 1,00,000
Other Information :
1) Sundry Debtors of H Ltd., include Rs. 5,000 due from S Ltd.
2) On 1st April, 2021 the Profit and Loss A/c of S Ltd. showed a credit

balance of Rs. 5,000.
3) Included in the stock of S Ltd., are goods of Rs. 20,000 which were

supplied by H Ltd., on which Company made profit of 25% on Sales.
Prepare a Consolidated Balance Sheet as on 31st March, 2022. with necessary
working notes.
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Q3) The Balance Sheet of Ashoka Ltd., Pune as on 31st March, 2022 is as
follows : [20]

Balance Sheet as on 31st March, 2022

Liabilities Rs. Assets Rs.

Share Capital Land & Building 2,00,000

1,000 6% Preference Shares 1,00,000 Plant & Machinery 2,20,000

of Rs. 100 each

2,000 Equity Shares of 2,00,000 Stock 1,00,000

Rs. 100 each fully Paid

3,000 Equity Shares of 1,50,000 Debtors 1,00,000

Rs. 100 each, Rs. 50 Paid

6% Debentures 1,00,000 Cash at Bank 30,000

(Floating charge on all assets)

Bank Loan (Secured on 1,00,000 Preliminary Expenses 40,000

Land & Building)

Sundry Creditors 90,000 Profit and Loss A/c 60,000

Income Tax 10,000

7,50,000 7,50,000

The company went into liquidation on 31st March, 2022. The preference
dividend was in arrears for three years as per article it was to be paid. The
arrears are payable on liquidation.

The assets were realized as follows :

Land & Building Rs.2,40,000, Plant & Machinery Rs 1,80,000, Stock
Rs.70,000 and Debtors Rs. 60,000.

The Expenses of liquidation amounted to Rs. 8,000. The liquidator is
entitled to a remuneration @2% on all assets realized and 3% on amount
distributed to unsecured Creditors including preferential creditors. All payments
made on 1st October, 2022.
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Q4) The Balance Sheet of Hira Ltd, Pune as on 31st March,2022 was as follows:
[20]

Balance Sheet as on 31st March, 2022

Liabilities Rs. Assets Rs.

Share Capital Land & Building 2,80,000

4,000 shares of Rs. 100 each 4,00,000 Plant & Machinery 2,20,000

General Reserve 1,28,000 Stock 1,96,000

Profit & Loss 1,20,000 Debtors 84,000

Bills Payable 84,800 Cash at Bank 28,800

Creditors 1,40,000 Advertising Expenses 64,000

8,72,800 8,72,800

Hira Ltd. was absorbed by.Sitara Ltd. Solapur on the following terms :

i) Hira Ltd. agreed to write off Advertising Expenses against its own reserves.

ii) Sitara Ltd. revalued the assets of Hira Ltd. as under :

Land & Building Rs. 3,00,000, Plant & Machinery Rs. 2,08,000, Stock
Rs. 2,40,000 and Debtors at Book Value.

iii) Sitara Ltd. took over the assets and Liabilities of Hira Ltd. and agreed to
discharge the purchase consideration in 5,200 Shares of Rs. 100 each at
Rs. 110 per Share and balance in cash.

iv) Hira Ltd. paid its Liquidation expenses Rs. 8,000.

Prepare Realization A/c, Sitara Ltd. A/c, Shareholders A/c, Bank A/c in
the books of Hira Ltd. and Opening Entries in the books of Sitara Ltd.


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Q1) a) Fill in the blanks. (any 5) : [5]
i) Transfer of value is a ________function of money.

(primary, secondary, contingent, other)
ii) According to the classical view of demand, money is demanded as

a________
(medium of exchange, store of value, transfer of value, universal
acceptability)

iii) Trade Cycle has ________ Phases.
(Two, Three, Four, Five)

iv) The Income and Expenditure of ________ is studied in Public
Finance.
(people, institution, farmers, government)

v) The taxes are a ________ payment.
(optional, compulsory, punitive, illegal)

vi) Inflation is a state in which the value of money________
(decreases, increases, stabilizes, changes)

b) Match the following pairs. [5]
Group ‘A’ Group ‘B’

i) Multiple Credit Creation a) Constant Economic Growth
ii) Contraction of Total Supply b) Dr. Marshal
iii) Cash Balance Approach c) Increase Cash Reserve Ratio
iv) Tight Monetary Policy d) Stagflation
v) Public Expenditure and Debt e) Commercial Banks

SEAT No. :

P.T.O.
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Q2) Explain the process of multiple credit creation of commercial banks. [15]

Q3) What is Inflation? Explain the causes of Inflation. [15]

Q4) What is Trade Cycle? State the characteristics of Trade Cycle. [15]

Q5) What is Public Expenditure? State the causes of increasing Public Expenditure.
[15]

Q6) Write Short Notes on (Any Three) : [15]
a) Progressive Tax
b) Cost Push Inflation
c) Recovery or Revival Stage of Trade Cycle
d) Public Finance: Meaning and Definitions.
e) Balance Budget


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3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nmhmdr.
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àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ‘yë¶ g§H«$‘U ho n¡emMo ............... H$m¶© Amho.

(àmW{‘H$, Xþæ¶‘, AmZwf§{JH$, BVa)

ii) n¡emÀ¶m ‘mJUr{df¶rÀ¶m gZmVZ Ñ{ï>H$moZmZwgma, n¡emMr ‘mJUr hr .............
åhUyZ Ho$br OmVo.

({d{Z‘¶ ‘mÜ¶‘, ‘yë¶ g§MZ, ‘yë¶ g§H«$‘U, gmd©{ÌH$ ñdrH$m¶©Vm)

iii) ì¶mnmaMH«$mÀ¶m ............ AdñWm AgVmV.

(XmoZ, VrZ, Mma, nmM)

iv) gmd©O{ZH$ Am¶ì¶¶m‘Ü¶o ................ CËnÞ Am{U IMm©Mm Aä¶mg Ho$bm OmVmo.

(ì¶³VrÀ¶m, g§ñWm§À¶m, eoVH$è¶m§À¶m, gaH$maÀ¶m)

v) H$a ho .................. XoUo AgVo.

(EopÀN>H$, gº$sMo, X§S>mË‘H$, ~oH$m¶Xoera>)

vi) MbZ{dñVma hr Aer AdñWm Amho H$s, Á¶m‘Ü¶o n¡emMo ‘yë¶ ...............
(KQ>Vo, dmT>Vo, pñWa amhVo, ~XbVo)

P.T.O.
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~) `mo½` OmoSçm bmdm. [5]

JQ> "A' JQ> "~'

i) ~hþJw{UV nV{Z{‘©Vr A) pñWa Am{W©H$ d¥ÕrXa

ii) EHy$U nwadR>¶mMm g§H$moM ~) S>m°. ‘me©b

iii) amoI {e„H$ Ñ{ï>H$moZ H$) amoI amIrd {Z{YÀ¶m à‘mUmV dmT>

iv) VoOrÀ¶m H$mimVrb MbZ{df¶H$ YmoaU S>) ‘§Xr¶wº$ MbZdmT>

v) gmd©O{ZH$ IM© Am{U H$O© B) ì¶mnmar ~±H$m

àíZ 2) ì¶mnmar ~±H$m§Mr ~hþJw{UV nV{Z{‘©VrMr à{H«$¶m ñnï> H$am. [15]

àíZ 3) MbZdmT> åhUOo H$m¶? MbZdmT>rMo H$maUo ñnï> H$am. [15]

àíZ 4) ì¶mnmaMH«o$ åhUOo H$m¶? ì¶mnmaMH«$mMr d¡{eï>o ñnï> H$am. [15]

àíZ 5) gmd©O{ZH$ IM© åhUOo H$m¶? gmd©O{ZH$ IM© dmT>rMr H$maUo gm§Jm. [15]

àíZ 6) Q>rnm {bhm (H$moUË¶mhr VrZ) [15]

A) àJ{Verb H$a/nwamoJm‘r H$a

~) IM©Xm~{Z{‘©V MbZ{dñVma

H$) ì¶mnmaMH«$mMr C{O©VmdñWm qH$dm nwZé‚mrdZ

S>) gmd©O{ZH$ Am¶ì¶¶: AW© Am{U ì¶m»¶m

B) g§Vw{bV qH$dm g‘Vmob AW©g§H$ën


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SEAT No. :

Q1) A) Fill in the blanks with the most appropriate alternative given (any five)[5]

i) ____ is a NOT a type of an External Motivational Factor

(Self-Confidence, Salary, Promotion, Fringe benefits)

ii) _____ is the ability to influence others towards attainment of specific
goals.

(Coordination, Control, Leadership, Planning)

iii) _____ refers to the extent to which businesses are socially
responsible for meeting legal, ethical, and economic standards.

(Management by Change, Corporate Governance, Corporate
Citizenship, Disaster Management)

iv) Concept of Trusteeship was introduced by _____.

(Dr. Babasaheb Ambedkar, Mahatma Gandhi, Pandit Jawaharlal
Nehru, Indira Gandhi)

v) ______ needs are at the highest level in Maslow’s Need Hierarchy
Theory.

(Psychological, Social, Safety and Security, Self-Actualisation)

vi) _____ is an example of a man-made disaster.

(Ladakh Land Slide, Kenya Drought, Kedarnath Cloud Burst,
Ukraine Russia War)

vii) Coordination in considered as _________ of management.

(Essence, Mission, Social Responsibility, Economic Objective)

P.T.O.
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B) Match the following: [5]

Column A Column B

i) Cloud Burst a) Control Technique

ii) Budget b) Resistance to Change

iii) Bureaucratic Style c) Disaster Management

iv) Fear of Financial Loss d) Strict adherence to rules

v) McClelland e) Theory of Motivation

Q2) Explain in detail the Maslow’s Need Hierarchy theory. [15]

Q3) Define Disaster Management and explain its advantages. [15]

Q4) Define Leadership and explain the qualities of a good Leader. [15]

Q5) Define Control and explain the need and importance of Control. [15]

Q6) Write a short note (any three). [15]

a) Ouchi’s Theory Z

b) Importance of Coordination

c) Corporate Governance

d) Advantages of Democratic Style of Leadership

f) Management of Change


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(‘amR>r ê$nm§Va)
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2) à. 2 Vo à. 5 ‘Yrb H$moUË¶mhr VrZ àíZm§Mr CÎmao Úm.
3) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©dVmV.

PA-1806

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) ................... hm ~mø àoaH$ KQ>H$mMm àH$ma Zmhr.

(AmË‘{dœmg, doVZ, ~T>Vr, AmZwf§{JH$ bm^)

ii) ............... åhUOo {d{eï> C{Ôï>o gmÜ¶ H$aÊ¶mgmR>r BVam§Zm à^m{dV H$aÊ¶mMr j‘Vm.

(g‘Ýd¶, {Z¶§ÌU, ZoV¥Ëd, {Z¶moOZ)

iii) ................ åhUOo H$m¶Xoera, Z¡{VH$ Am{U Am{W©H$ ‘mZH$m§Mr nyV©Vm H$aÊ¶mgmR>r
ì¶dgm¶ {H$Vr à‘mUmV gm‘m{OH$[aË¶m O~m~Xma AmhoV.

(~XbmMo ì¶dñWmnZ, H$m°nm}aoQ> JìhZ©Ýg, H$m°nm}aoQ> ZmJ[aH$Ëd, AmnÎmr ì¶dñWmnZ)

iv) {dœñVnXmMr g§H$ënZm ................... ¶m§Zr ‘m§S>br.

(S>m°. ~m~mgmho~ Am§~oS>H$a, ‘hmË‘m Jm§Yr, n§{S>V Odmhabmb Zohê$, B§{Xam Jm§Yr)

v) å¶°ñbmoMm JaOm§À¶m loUr {gÕmÝVm‘Ü¶o ................ JaOm gdm}ƒ ñVamda AmhoV.

(‘mZgemór¶, gm‘m{OH$, gwa{jVVm Am{U gwajm, AmË‘-dmñV{dH$Vm)

vi) .............. ho EH$ ‘mZd{Z{‘©V AmnÎmrMo CXmhaU Amho.

(bS>mI ŷñIbZ, Ho${Z¶m XþîH$mi, Ho$XmaZmW T>J’w$Q>r, ¶wH«o$Z-a{e¶m ¶wÕ)

vii) g‘Ýd¶ ho ì¶dñWmnZmMo ............... ‘mZbo OmVo

(gma, Ü¶o¶, gm‘m{OH$ O~m~Xmar, Am{W©H$ C{Ôï>)
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~) ¶mo½¶ OmoS>çm Oyidm. [5]

aH$mZm A aH$mZm ~

i) T>J’w$Q>r A) {Z¶§ÌU V§Ì

ii) A§XmOnÌH$ ~) ~Xbmg à{VH$ma

iii) ZmoH$aemhr e¡br H$) AmnÎmr ì¶dñWmnZ

iv) Am{W©H$ ZwH$gmZmMr ^rVr S>) {Z¶‘m§Mo H$mQ>oH$moa nmbZ

v) ‘°³bob±S> B) A{^àoUoMm {gÕm§V

à.à.à.à.à.2) å¶°ñbmoMm JaOm§À¶m loUtMm {gÕm§V ñnï> H$am. [15]

à.à.à.à.à.3) AmnÎmr ì¶dñWmnZmMr ì¶m»¶m Úm Am{U Ë¶mMo ’$m¶Xo ñnï> H$am. [15]

à.à.à.à.à.4) ZoV¥ËdmMr ì¶m»¶m Úm d Mm§Jë¶m ZoË¶mMo JwU ñnï> H$am. [15]

à.à.à.à.à.5) {Z¶§ÌUmMr ì¶m»¶m Úm d {Z¶§ÌUmMr JaO Am{U ‘hÎd ñnï> H$am. [15]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 3) [15]

A) Am¡MrMm PoS> {gÕm§V

~) g‘Ýd¶mMo ‘hÎd

H$) H$m°nm}aoQ> JìhZ©Ýg

S>) bmoH$emhr ZoV¥Ëd©e¡brMo ’$m¶Xo

B) ~XbmMo ì¶dñWmnZ


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SEAT No. :

Q1) A) Fill in the blanks (Attempt Any 5): [5]

i) A person appointed by the Board of Directors is called ________.

(Managing Director, Whole-Time Director, Director)

ii) The person appointed to check financial verification of the company
is called ____________.

(Manager, Director, Auditor)

iii) ________ is a formal decision on any motion in the meeting.

(Motion, Documents, Resolution)

iv) __________ a list of items to be discussed at a formal company
meeting.

(Agenda, Minutes, Quorum)

v) Who are the contributories at the time of liquidation of a company.

(Creditors, Debenture holders, Equity Shareholders)

vi) The government’s official website for corporate affairs is called
________.

(MCA Portal, Govt.in, Google)

P.T.O.
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B) Match the following : [5]

Group - A Group - B

i) CIN a) Alteration

ii) Amendments b) Minimum number of members
to be present in a meeting

iii) E-filing c) Corporate Identity Number

iv) Non-executive Director d) Certification of E-forms

v) Quorum e) Attends only Board Meeting

Q2) Define Board of Directors. Explain powers and duties of directors. [15]

Q3) What is Corporate Social Responsibility? Explain CSR Committee and
activities under CSR. [15]

Q4) Define Meeting. Explain formalities of conducting valid meeting. [15]

Q5) What is E-Governance? Explain importance and advantages of E-Governance.
[15]

Q6) Write short notes (Any three): [15]

a) Winding up of a Company.

b) Voting in a company meeting.

c) Extraordinary General Meeting.

d) Whole Time Director.

e) Related Party Transactions.


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gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 6 A{Zdm¶© AmhoV.
2) àíZ H«$‘m§H$ 2, 3, 4 Am{U 5 ‘Yrb H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) g§MmbH$ ‘§S>imZo {Z¶wº$ Ho$boë¶m ì¶º$sbm ............... Ago åhUVmV.

(ì¶dñWmnH$s¶ g§MmbH$, nyU© doi g§MmbH$, g§MmbH$)

ii) H§$nZrÀ¶m Am{W©H$ boIm§À¶m nS>VmiUr H$aÊ¶mgmR>r Zo‘boë¶m ì¶º$sbm ............... Ago åhUVmV.

(ì¶dñWmnH$, g§MmbH$, A§Ho$jH$)

iii) ‘§Oya Pmboë¶m àñVmdmbm ............ Ago åhUVmV.

(àñVmd, XñVEodO, R>amd)

iv) H§$nZrÀ¶m g ôV AZwH«$‘o MMm© H$amd¶mÀ¶m {df¶m§À¶m ¶mXrbm ................ Ago åhUVmV.

(H$m¶©H«$‘n{ÌH$m, B{Vd¥V, JUg§»¶m)

v) H§$nZrÀ¶m g‘nZmdoir XoUr XoÊ¶mgmR>r CÎmaXm{¶Ëd Agboë¶m ì¶º$s̈Zm .............. Ago åhUVmV.

(YZH$mo, H$O©amoIoYmaH$, gm‘mÝ¶ ^mJYmaH$)

vi) .............. ho H§$nZrÀ¶m ì¶dhmam§{df¶rMo gaH$maMo A{YH¥$V g§Ho$VñWi Amho.

(MCA Portal, Gov.in, Google)



4[5952]-405

~) OmoS²>¶m bmdm. [5]

JQ> A JQ> ~

i) gr. Am¶. EZ. A) ~Xb

ii) Xþê$ñVr ~) g ôgmR>r CnpñWV {H$‘mZ g^mgX g§»¶m

iii) B©-’$m¶qbJ H$) H§$nZr AmoiI H«$‘m§H$

iv) AH$m¶©H$mar g§MmbH$ S>) B©-’$m°åg© à‘m{UV H$aUo

v) JUg§»¶m B) ’$º$ g§MmbH$ ‘§S>imÀ¶m g ôgmR>r CnpñWVr

à.à.à.à.à.2) g§MmbH$ ‘§S>imMr ì¶m»¶m Úm. g§MmbH$m§Mo A{YH$ma Am{U H$V©ì¶o g{dñVa ñnï> H$am. [15]

à.à.à.à.à.3) H§$nZrMr gm‘m{OH$ O~m~Xmar åhUOo H$m¶? gm‘m{OH  O~m~Xmar g{‘Vr Am{U g{‘VrMo CnH«$‘
¶m~m~V g{dñVa ‘m{hVr {bhm. [15]

à.à.à.à.à.4) g ôMr ì¶m»¶m {bhm. g ôÀ¶m Am¶moOZm~m~VÀ¶m H$m¶Xoera ~m~r g{dñVa {bhm. [15]

à.à.à.à.à.5) B©-JìhZ©Ýg åhUOo H$m¶? B©-JìhZ©ÝgMo ‘hÎd Am{U ’$m¶Xo g{dñVa ñnîQ> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) H§$nZrMo g‘mnZ

~) g^oVrb ‘VXmZ

H$) {deof gd©gmYmaU g^m

S>) nyU©doi g§MmbH$

B) g§~§{YV njm§er ì¶dhma


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(2019 CBCS Pattern) (Semester - IV)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All Questions are compulsory.
2) Figures to the right indicate full marks.

PA-1808 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks with the most appropriate alternative (Any 5): [5]

i) An agreement enforceable by law is known as a _______ agreement.
(Valid, Void, Illegal)

ii) Business units having an investment up to Rs. 1 crore and turnover
up to Rs. 5 crores are considered as a _______ unit. (Micro, Small,
Medium)

iii) _______ is not a limitation of Joint Stock Company. (Perpetual
succession, Lack of secrecy, Limited Liability)

iv) Limited Liability Partnership Act, India was introduced in _______.
(2004, 2006, 2008)

v) The ________ governs the levy of income tax in India. (Income tax
act 1961, Central Sales Tax act 1956, Bombay Sales Tax Act 1953)

vi) Indian Partnership Act was passed in the year _______. (1932,
1930, 1934)

B) Match the following: [5]

Column A Column B

i) Merger & Acquisition a) Rethinking of business process

ii) Business Engineering b) Contract between private entity
and government enterprise

iii) Outsourcing c) License fee

iv) Public Private Partnership d) BPO

v) Franchising e) Elimination of Competition

P.T.O.
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Q2) Write a short note (any two): [10]

a) Filing Returns.

b) Factors affecting Productivity of Business.

c) Role of Business towards Government.

d) Disadvantages of Franchising.

Q3) a) Explain in detail about the Licensing in India. [8]

b) State the advantages of boost productivity. [7]

Q4) a) Explain the importance of Business Strategy. [8]

b) Explain the types of mergers. [7]


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Total No. of Questions : 4]

[5952]-406
S.Y. B.Com.

246 A : BUSINESS ADMINISTRATION - II
(2019 CBCS Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©dVmV.

PA-1808

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) H$m¶ÚmZo bmJy hmoUmè¶m H$amamg .............. H$ama åhUVmV. (d¡Y, {ZaW©H$, ~oH$m¶Xoera)

ii) 1 H$moQ>r én¶m§n¶ªVMr Jw§VdUyH$ Am{U 5 H$moQ>r én¶m§n¶ªVMr CbmT>mb Agboë¶m ì¶dgm¶mg
............ åhUVmV. (gyú‘CÚmoJ, bKwCÚmoJ, ‘Ü¶‘ CÚmoJ)

iii) ................ hr g§¶wº$ ^m§S>dbr g§ñWoMr ‘¶m©Xm Zmhr. (emœV CÎmam{YH$ma, JwáVoMm
A^md, ‘¶m©{XV Xm{¶Ëd)

iv) ^maVm‘Ü¶o ‘¶m©{XV Xm{¶Ëd ^mJrXmar H$m¶Xm ............. gmbr g§‘V H$aÊ¶mV Ambm.
(2004, 2006, 2008)

v) ^maVmVrb Am¶H$a AmH$maUrMo {Z¶‘Z ............. H$m¶Úm A§VJ©V Ho$bo OmVo. (Am¶H$a
H$m¶Xm 1961, H|$Ðr¶ {dH«$sH$a H$m¶Xm 1956, ~m°å~o {dH«$sH$a H$m¶Xm 1953)

vi) ^maVr¶ ^mJrXmar H$m¶Xm ................ ‘Ü¶o ‘§Oya Pmbm. (1932, 1930, 1934)

~) ¶mo½¶ OmoS²>¶m Owidm. [5]

aH$mZm A aH$mZm ~

i) {dbrZrH$aU Am{U g§nmXZ A) ì¶dgm¶ à{H«$¶oMm nwZ{d©Mma

ii) ì¶dgm¶ A{^¶m§{ÌH$s ~) ImOJr g§ñWm Am{U gaH$mar CnH«$‘
¶m§À¶mVrb H$ama

iii) AmCQ>gmo{gªJ H$) nadmZm ewëH$

iv) gmd©O{ZH$ ImOJr ^mJrXmar S>) {~.{n.Amo.

v) ’|«$Mm¶qPJ B) ñnYm© g§nwï>mV AmUUo
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à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) [aQ>Z©/{ddaU XmIb H$aUo

~) ì¶dgm¶ CËnmXH$Voda n[aUm‘ H$aUmao KQ>H$

H$) emgZmàVr ì¶dgm¶mMr ŷ{‘H$m

S>) ’«|$Mm¶qPJMo VmoQ>o

à.à.à.à.à.3) A) ^maVmVrb nadmZm YmoaUmMr g{dñVa ‘m{hVr gm§Jm. [8]

~) CËnmXH$Vm dmT>rMo ’$m¶Xo ñnï> H$am. [7]

à.à.à.à.à.4) A) ì¶dgm¶ ì¶wìhaMZoMo ‘hËd {deX H$am. [8]

~) {dbr{ZH$aUmMo àH$ma ñnï> H$am. [7]


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Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All Questions are compulsory.
2) Figures to the right indicate full marks.

PA-1809 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any 5) : [5]

i) The structure of co-operative Banks providing long term loans is
_________.

a) One Tier b) Two Tier

c) Three Tier d) Multi Tier

ii) On ________ Industrial Development Bank of India was established
as a wholly owned subsidiary of Reserve Bank of India.

a) 1 July 1964 b) 12 July 1949

c) 2 July 1982 d) 1 July 1955

iii) A bank which controls the supply of credit in an economy is ________.

a) State Bank of India b) Central Bank

c) Development Bank d) Co-operative Bank

iv) ______ bank is having maximum numbers of branches in India.

a) State Bank in India b) Punjab National Bank

c) Bank of Baroda d) Reserve Bank of India

v) In ______ the insurance sector was opened up to the private sector.

a) 1991 b) 1999

c) 1998 d) 1982

vi) Risk-weighted assets ratio of own funds of a bank is _________.

a) Capital Adequacy Ratio b) Cash Reserve Ratio

c) Statutory Liquidity Ratio d) None of the above
P.T.O.
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B) Match the following: [5]

A B

i) Indian co-operative Credit a) 1982

Societ’s Act

ii) NABARD b) 1904

iii) EXIM Bank c) 1930

iv) Narsimham Committee d) 1982

v) B.I.S. e) 1991

Q2) Write short notes (Any 2): [10]

a) State co-operative Banks.

b) Industrial Credit and Investment Corporation of  India (ICICI).

c) Islamic Banks

d) Capital Adequacy Norms.

Q3) a) Explain functions of primary agriculture credit society. [8]

b) Explain challenges before development banks in India. [7]

Q4) a) Explain functions of central banks. [8]

b) Discuss Basel-2 norms for Indian banks in detail. [7]


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246 (b) : BANKING & FINANCE - II
Indian Banking System - II

(2019 CBCS Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ A{Zdm¶© Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-1809

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) {XK©H$mbrZ H$O©nwadR>m H$aUmè¶m ghH$mar ~±H$m§Mr aMZm .................. Amho.

A) EH$ñVar¶ ~) {ÛñVar¶

H$) {ÌñVar¶ S>) ~hþñVar¶

ii) ............... amoOr [aPìh© ~±Ho$Mr g§nyU© ‘mbH$sMr CnH§$nZr åhUyZ ^maVr¶ Am¡Úmo{JH$
{dH$mg ~±Ho$Mr ñWmnZm Pmbr.

A) 1 Owb¡ 1964 ~) 12 Owb¡ 1949

H$) 2 Owb¡ 1982 S>) 1 Owb¡ 1955

iii) AW©ì¶dñWoVrb nVnwadR>²¶mda {Z¶§ÌU R>odUmar ~±H$ åhUOo  ................. hmo¶.

A) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m ~) ‘Ü¶dVu ~±H$

H$) {dH$mg ~±H$ S>) ghH$mar ~±H$

iv) ................ hr ^maVmVrb gdm©V ‘moR>r gmd©O{ZH$ joÌmVrb emIm AgUmar ~±H$ Amho.

A) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m ~) n§Om~ Z°eZb ~±H$

H$) ~±H$ Am°’$ ~S>m¡Xm S>) [aPìh© ~±H$ Am°’$ B§{S>¶m

v) gZ ............ ‘Ü¶o {d‘mjoÌ ImOJr joÌmgmR>r Iwbo H$aÊ¶mV Ambo.

A) 1991 ~) 1999

H$) 1998 S>) 1982

vi) ~±H$m§À¶m ñd{ZYmMo OmoIr‘^marV ‘mb‘Îmoer Agbobo à‘mU åhUOo .................. hmo¶.

A) ^m§S>dbnyV©Vm à‘mU ~) amoI amIrd {ZYr à‘mU

H$) VabVm à‘mU S>) darbn¡H$s Zmhr
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~) OmoS>çm bmdm : [5]

i) ^maVmVrb ghH$ar nVg§ñWm H$m¶Xm A) 1982

ii) Zm~mS>© ~) 1904

iii) Ep³P‘ ~±H$ H$) 1930

iv) Zaqgh‘ g{‘Vr S>) 1982

v) B.I.S. B) 1991

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr XmoZ) [10]

A) amÁ¶ ghH$mar ~±H$m

~) ^maVr¶ Am¡Úmo{JH$ nV Am{U Jw§VdUyH$  ‘hm‘§S>i (Am¶ gr Am¶ gr Am¶)

H$) Bñbm{‘H$ ~±H$m

S>) ^m§S>db n¶m©áVm {ZH$f

à.à.à.à.à.3) A) àmW{‘H$ H¥$fr nVg§ñWoMr H$m¶} ñnï> H$am. [8]

~) ^maVmVrb {dH$mg ~±H$m§g‘moarb AmìhmZo ñnï> H$am. [7]

à.à.à.à.à.4) A) ‘Ü¶dVu ~±Ho$Mr H$m¶} ñnï> H$am. [8]

~) ^maVr¶ ~±H$m§~m~V Agboë¶m ~ogb-2 {ZH$fm§Mr g{dñVa MMm© H$am. [7]





Total No. of Questions : 4]

[5952]-408
S.Y. B.Com.

246 C : BUSINESS LAW & PRACTICES - II
(2019 Pattern) (Semester - IV)

Time : 2½ Hours] [Max. Marks : 50
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PA-1810 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Attempt Any 5): [5]

i) An institution established in the spirit of equality is a ___________
Institution.

(Partnership, Sole trader, Cooperative)

ii) ______ were established to provide raw materials to workers in
small & cottage industries.

(Agricultural co-operative societies, Industrial co-operative societies,
Service co-operative societies)

iii) ______ it is an independent impartial third party.

(Arbitrator, The Owner, Agent)

iv) M.R.T.P. Act was converted into _____ Act.

(Partnership Act, Factory Act, Competition Act)

v) Life Insurance corporation was nationalized in _________.

(1990, 1949, 1956)

vi) A collective stoppage of work by employees in an industry is
______.

(Lock out, Strike, Lay-off)

P.T.O.
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B) Match the following: [5]

Group A Group B

i) Patent Act a) 1957

ii) Copyright Act b) 1904

iii) First Co-operative Act c) 1970

iv) Competition Act d) 1999

v) Trade mark Act e) 2000

Q2) Write a short note (Any 2): [10]

a) Rural co-operative societies.

b) Term Insurance.

c) Rights of competition Commission.

d) Lay-off.

Q3) a) State the features of co-operative society & explain the types of co-
operative societies. [8]

b) Explain the various types of Life Insurance. [7]

Q4) a) Explain concepts of Cartel, dominant position, acquisition under
competition Act 2002. [8]

b) Explain the dispute settlement mechanism under the Industrial disputes
Act, 1947. [7]


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S.Y. B.Com.

246 C : BUSINESS LAW & PRACTICES - II
(2019 Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-1810

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) g‘mZVoÀ¶m ^mdZoZo ñWmnZ Ho$bobr g§ñWm åhUOo ................ g§ñWm hmo¶.

(^mJrXmar, EH$b ì¶mnmar, ghH$mar)

ii) bKw Am{U Hw$Q>ra CÚmoJmVrb l{‘H$m§Zm H$ƒm ‘mb CnbãY H$ê$Z XoÊ¶mgmR>r .............
ñWmnZ H$aÊ¶mV Amë¶m.

(eoVr ghH$mar g§ñWm, Am¡Úmo{JH$ ghH$mar g§ñWm, godm ghH$mar g§ñWm)

iii) .......... hm EH$ ñdV§Ì {Z:njnmVr V¥Vr¶ nj AgVmo.

(bdmX, ‘mbH$, EO§Q>)

iv) E‘.Ama.Q>r.nr. Mo ê$nm§Va .............. ¶m H$m¶ÚmV Pmbo.

(^mJrXmar H$m¶Xm, H$maImZm H$m¶Xm, ñnYm© H$m¶Xm)

v) .............. ‘Ü¶o OrdZ {då¶mMo amï´>r¶rH$aU Pmbo.

(1990, 1949, 1956)

vi) CÚmoJmV Agboë¶m H$m‘Jmam§Zr EH${ÌVnUo H$m‘ ~§X R>odUo åhUOoM ............... hmo¶.

(Q>mio~§Xr, g§n, H$m‘Jma H$nmV)
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~) OmoS>²¶m bmdm. [5]

JQ> A JQ> ~

i) noQ>§Q> H$m¶Xm A) 1957

ii) H$m°nramB©Q> H$m¶Xm ~) 1904

iii) n{hbm ghH$mar H$m¶Xm H$) 1970

iv) ñnYm© H$m¶Xm S>) 1999

v) ì¶mnmar {MÝh H$m¶Xm B) 2000

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) J«m‘rU ghH$mar g§ñWm

~) ‘wXV {d‘m

H$) ñnYm© Am¶moJmMo A{YH$ma

S>) H$m‘Jma H$nmV

à.à.à.à.à.3) A) ghH$mar g§ñWm§Mr d¡{eï>²¶o {bhÿZ ghH$mar g§ñWm§Mo àH$ma ñnï> H$am. [8]

~) OrdZ {då¶mMo {d{dY àH$ma ñnï> H$am. [7]

à.à.à.à.à.4) A) ñnYm© H$m¶Xm, 2002 A§VJ©V, H$mQ>}b, g§nmXZ, à~i pñWVr ñnï> H$am. [8]

~) Am¡Úmo{JH$ {ddmX H$m¶Xm, 1947 Zwgma {ddmX {‘Q>{dÊ¶mMr ¶§ÌUm ñnï> H$am. [7]


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PA-1811

Q1) A) Fill in the blanks (any 5) : [5]
i) 'One man one Vote' principle is recommended by ________

committee.
a) Gorwala
b) Mac Lagan
c) Minto Morley

ii) The rules and regulations of co-operative societies are formed in
its______
a) Cooperative Act b) Co-operative Rules
c) General Body

iii) Who is responsible for interest rates on deposits in co-operative
society?
a) Member b) Registar
c) President

iv) Cooperative societies with areas of cooperation more than two states
are registered by ____________
a) Central Registar b) Central Government
c) RBI

v) DCCBs stands for _______
a) District central cooperative Banks
b) Director of central cooperative Bank.
c) Danish Credit cooperative Bank.

vi) The first Dairy cooperative society was registered in 1913 at _______
a) Anand in Gujarat
b) Allahabad in UP
c) Aurangabad in Maharashtra

SEAT No. :

P.T.O.
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B) Match the following [5]
Group 'A' Group 'B'

i) First cooperative society a) Co-operation
ii) First Dairy cooperative b) Housing co-operative societies

Society
iii) Each works for all and c) 1904

all work for each
iv) Cooperative credit societies d) Capitalization

Act
v) Registar of cooperative e) Regulates the registration

Societies f) Katra cooperative dairy society
g) Agriculture credit cooperative

society 1905

Q2) Short Notes (Any 2) : [10]
a) Objectives of cooperative societies Act, 1912.
b) Documents required for registration to multi-state co-operative societies.
c) Procedure of appointment of Registar for cooperative societies.
d) Historical development of cooperative legislation.

Q3) a) State the benefits of co-operative legislation. [8]
b) Explain the functions and duties of the central Registar. [7]

Q4) a) State the provisions Regarding management of cooperative societies.[8]
b) State the functions and Problems of cooperative Housing societies. [7]


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S.Y. B.Com. (Semester - IV)

246 (D) : Co- Operation and Rural Development - II
(Special Paper-II) (Regular)

(2019 Pattern)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 50
gyMZm :- 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1811

àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr 5) [5]
i) "EH$ ì¶³Vr EH$ ‘V' ¶m VËdmMr {e’$mag .............. g{‘VrZo Ho$br Amho.

A) Jmoadmbm ~) ‘°H$ bJZ
H$) q‘Q>mo ‘mob}

ii) ghH$mar g§ñWm§Mo {Z¶‘ d H$m¶Xo ............ ‘Ü¶o V¶ma hmoVmV.
A) ghH$mar H$m¶Xm ~) ghH$mar {Z¶‘
H$) gm‘mÝ¶ g§ñWm

iii) ghH$mar g§ñWoVrb R>odtda ì¶mOXamMr O~m~Xmar H$moUmMr?
A) gXñ¶ ~) a{OñQ>a
H$) AÜ¶j

iv) XmoZ amÁ¶m§nojm OmñV ghH$ma joÌ Agboë¶m ghH$mar g§ñWm§Mr Zm|XUr ............
Ho$br OmVo.
A) H|${Ð¶ {Z~§YH$ ~) H|${Ð¶ gaH$ma
H$) ^maVr¶ [aPd© ~±H$

v) DCCBs åhUOo ..............
A) {Oëhm ‘Ü¶dVu ghH$mar ~±H$ ~) ‘Ü¶dVu ghH$mar ~±Ho$Mo g§MmbH$
H$) S>°{Ze H«o${S>Q> ghH$mar ~±H$

vi) n{hbr XþY ghH$mar g§ñWm 1913 ‘Ü¶o ............. ¶oWo Zm|XUrH¥$V Pmbr.
A) JwOamV‘Yrb AmZ§X
~) CÎma àXoemVrb Abmhm~mX
H$) ‘hmamï´>mVrb Am¡a§Jm~mX

P.T.O.



[5952]-409 4

~) OmoSçm Owidm. [5]
JQ> "A' JQ> "~'

i) n{hbr ghH$mar g§ñWm A) ghH$m¶©

ii) n{hbr S>oAar ghH$mar g§ñWm ~) J¥h{Z‘m©U ghH$mar g§ñWm

iii) àË¶oH$ gdm©gmR>r H$m¶© H$aVo H$) 1904

Am{U àË¶oH$mgmR>r gd© H$m¶© H$aVo

iv) ghH$mar nVg§ñWm H$m¶Xm S>) ^m§S>dbrH$aU

v) ghH$mar g§ñWm§Mo {Z~§YH$ B) Zm|XUrMo {Z¶‘Z H$aVo

’$) H$Q>am ghH$mar S>oAar gmogm¶Q>r

J) H¥$fr n§V ghH$mar g§ñWm 1905

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr 2) [10]
A) ghH$mar g§ñWm A{Y{Z¶‘ 1912 Mr C{Ôï>o

~) ~hþamÁ¶r¶ ghH$mar g§ñWm§À¶m Zm|XUrgmR>r Amdí¶H$ H$mJXnÌo

H$) ghH$mar g§ñWmgmR>r {Z~§YH$ {Z¶wº$sMr à{H«$¶m

S>) ^maVmVrb ghH$mar gmIa H$maImÝ¶m§Mm Eo{Vhm{gH$ {dH$mg

àíZ 3) A) ghH$mar H$m¶X²¶mMo ’$m¶Xo gm§Jm. [8]
~) H|${Ð¶ {Z~§YH$mMr H$m¶©o Am{U H$V©ì¶o ñnï> H$am. [7]

àíZ 4) A) ghH$mar g§ñWmÀ¶m ì¶dñWmnZm~m~VÀ¶m VaVwXr gm§Jm. [8]
~) ghH$mar J¥h{Z‘m©U g§ñWm§Mr H$m¶©o Am{U g‘ñ¶m gm§Jm. [7]


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PA-1812

Q1) A) Fill in the blanks by choosing the proper alternative given in the
bracket (any five) : [5]

a) Under _____________ method, group and sub groups are denoted
by combination of alphabets or letters. (Alpha-numeric Method,
Alphabetic Method, Numeric Method).

b) _____________ Method is useful when the prices are falling.
(LIFO, FIFO, Weighted Average).

c) Under _____________ wage rate system the workers are paid on
the basis of unit of output. (Rowan Premium Plan, Time , Piece).

d) The objective of _____________  is to reward an employee suitably
on the basis of his merit. (Job analysis, Merit Rating , Labour
Turnover).

e) CAM stands for _____________ (Computer Access Mode,
Computer Aided Manufacturing, Computer Aided Mapping).

f) _____________ is a record of both quantities and values.
(store ledger, bin card, inspection note).

SEAT No. :

P.T.O.
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B) Match the following Pairs : [5]

Group ‘A’ Group ‘B’

1) Time booking a) Unavoidable cause

2) Bin Card b) Rowan Premium Plan

3) Domestic responsibilities c) Ranking method

4) Job evaluation d) Job Ticket

5) Incentive plan e) Store keeper

Q2) Write short notes on any two of the following : [10]
a) Merit Rating.
b) Distinguish between n Bin card and Store ledger.
c) Methods of Time Booking.
d) Direct Cost.

Q3) A) The following transactions took place relating to Material Y during
December 2022 :

Date Particular Quantity (Units) Rate per Unit (Rs.)

Dec. 3 Received 3,000 20

Dec.7 Issued 1,000 --

Dec.12 Received    500 10

Dec.18 Issued    800 --

Dec.25 Received 1,200 15

Dec.28 Received    300 18

Dec. 30 Issued 1,000 --

You are required to prepare the Store Ledger Account under the LIFO
methods and also calculate the closing stock. [8]
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B) From the following particulars supplied by the personal department of
ABC Ltd, calculate labour Turnover Rate under Separation Method,
Replacement Method and Flux Method [7]

Total number of employees at the beginning of the year   950

Total number of employees at the end of the year 1050

Number of employees who left during the year     40

Number of employees who are recruited during the year     20

Q4) A) Calculate the Total earnings of Mr. Ganesh under Halsey and Rowan
Premium Plan with the help of following information. [8]

Time Taken ---- 72 hours

Time Allowed ---- 90 hours

Rate of wages ---- Rs. 2 per hour

B) What is JIT? Explain the advantages and disadvantages of Just In Time
system. [7]


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1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any three questions from the remaining question from 2, 3, 4 and 5.
3) Figures to the right indicate full marks.
4) Use of calculator and statistical table is allowed.

PA-1813

Q1) Choose the correct alternative from each of the following (Any Ten) :
[1 Mark Each]

a) If in a LPP, the solution of a variable can be made infinity large without
violating the constrain the solution is _____________.

i) Infeasible ii) Unbounded

iii) Alternative iv) None of the above

b) A rise in prices before Diwali is an example of ___________.

i) Cyclical variation ii) Irregular variation

iii) Secular Trend iv) Seasonal variation

c) Every LPP is associated with another LPP is called ___________.

i) Primal

ii) Dual

iii) Non-linear programming

iv) None of the above

SEAT No. :

P.T.O.
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d) In marking assignments, which of the following should be preferred?

i) Only row having single zero

ii) Only column having single zero

iii) Only row/column having single zero

iv) Column having more than one zero

e) __________ are expressed is in the form of inequities or equations.

i) Constraints ii) Objective Functions

iii) both i) and ii) iv) None of the above

f) ____________ is a method for computing a basic feasible solution of a
transportation problem, where the basic variables are chosen according
to the unit cost of transportation.

i) Least cost method

ii) Vogel's approximation method

iii) North west corner method

iv) Modified distribution method

g) Additive model for time series Y = _________________.

i) T × S × C × I ii) T – S – C – I

iii) T + S + C + I iv) T + S – C × I

h) To make an unbalanced assignment problem balanced, what are added
with all entries as zeroes?

i) Dummy rows ii) Dummy columns

iii) both i) and ii) iv) Dummy entries

i) For solving an assignment problem, which method is used?

i) Least cost method

ii) Hungarian method

iii) Vogel’s approximation method

iv) None of the above



j) Which of the following methods is used to verify the optimality of the
current solution of the transportation problem ____________

i) Least cost method

ii) Vogel’s approximation method

iii) Modified distribution method

iv) All of the above

k) The constant in exponential smoothing method in time series is known
as ___________.

i) Smoothing constant

ii) Smoothing variable

iii) Exponential constant

iv) Exponential variable

l) In transportation problem, if opportunity cost dij = cij – (ui + vj) = 0 for
some i and j in the optimal solution then there exists _________.

i) Bounded solution

ii) Alternate solution

iii) Infeasible solution

iv) Alternate solution does not exist

Q2) Attempt the following :

a) Distinguish between seasonal variations and cyclic variations. [3]

b) Compute 3 yearly moving averages for the following data : [4]

Year 1988 1989 1990 1991 1992 1993 1994 1995

Production  78  73   71   73   75   78  73  77
(in tones)

[5952]-411   3
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c) Fit a second degree trend by the method of least squares to the following
data : [8]

Year 1993 1994 1995 1996 1997

Sales in  35   56   79   80   40
10,000

Also estimate sales for year 1998.

Q3) Attempt the following :

a) Define the term ‘Initial Basic Feasible Solution (IBFS)’in the Linear
Programming Problem. [3]

b) Obtain the dual problem of the following Linear programming problem

Minimize Z = 17X1 + 13X2 + 18X3

Subject to

18X1 + 12X2 + X3   13

13X1 + 16X2 + 14X3   14

14X1 + X2 + 15X3   11

X1 + 15X2 + 12X3   17

X1 , X2 , X3   0  [4]

c) Using Simplex Method, Solve the following linear programming problem

Max Z = 2X1 + 3X2 + 4X3

Subject to

3X1 – 2X3   41

2X1 + X2 + X3   35

2X2 + 3X3   30

X1 , X2 , X3   0  [8]



Q4) Attempt the following :

a) Explain the difference between the transportation problem and assignment
problem. [3]

b) Obtain initial basic feasible solution using North West Corner method
for following transportation problem.

Markets  D1 D2 D3 D4 Capacity

Sources 

O1 3 5 7 6 50

O2 2 5 8 2 75

O3 3 6 9 2 25

Demand 20 20 50 60 150

Also find the corresponding transportation cost. [4]

c) Obtain initial basic feasible solution using Vogel Approximation method
for following transportation problem.

Warehouse  W1 W2 W3 W4   Capacity

Factory 

F1 19 30 50 10 7

F2 70 30 40 60 9

F3 40 8 70 20 18

Demand 5 8 7 14 34

Is this solution is optimal? [8]

Q5) Attempt the following :

a) What is an unbalanced assignment problem? How to make such problem
balanced? [3]

[5952]-411   5



b) Three different airplanes are to be assigned to handle three cargo
consignments with a view to maximize profit (in lakh rupees). The profit
matrix is given as follows : [4]

Airplanes Cargo Consignment

C1 C2 C3

A1 1 4 5

A2 2 3 3

A3 3 1 2

c) A company has four jobs to be done. The following matrix shows the
time (in hours) taken on 4 different machines find minimum solution so
as to minimize the total time required.    [8]

I II III IV

A 5 23 14 8

B 10 25 1 23

C 35 16 15 12

D 16 23 21 7

Q6) Attempt any Three of the following : [15]
a) Explain ‘Transportation Problem’.
b) Write an algorithm to solve assignment problem for optimal cost.
c) Explain the different components of time series with illustration.
d) What is degeneracy in L.P.P. solution? Explain how degeneracy is

resolved?
e) Describe the method of exponential smoothing used for the estimation

method.


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Q1) A) Fill in the blanks (Any Five) : [5]
i) SHG, Stands for ______.

a) Saving Health Group
b) Self Help Group
c) Same Help Group

ii) In Year ______ Self Help Group was introduced in India.
a) 1980
b) 1992
c) 1996

iii) ______ Sector has emerged as the largest sector in India.
a) Tertiary
b) Primary
c) Secondary

iv) The service sector include _____ Activity.
a) Agriculture
b) Transport
c) Fishing

v) The company was commenced as OYO rooms in the year _____.
a) 2013
b) 2010
c) 2020

 vi) EDP stands for _____.
a) Enterprise Development Programme
b) Entrepreneurship Development Programme
c) Entrepreneur Development Programme

SEAT No. :

P.T.O.
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B) Match the following : [5]
        Group 'A'       Group 'B'

i) Globalization a) Tata industries
ii) Mr. Ratan Tata b) Service sector
iii) Tele communication c) 1991
iv) Social Distancing d) 10-20
v) Self Help Group member e) Primary sector

f) Covid - 19
g) 20-30

Q2) Write Short Notes (Any Two) : [10]
a) Evolution of self help group.
b) Types of service ventures.
c) Mr. Radhakishan Damani.
d) Cultural challenges of Entrepreneurship Development.

Q3) a) Explain the Disadvantages of Group Entrepreneurship. [8]
b) Discuss the Entrepreneurial opportunities of service industry in Rural

Areas. [7]

Q4) a) Discuss the challenges of Entrepreneurship Development. [8]
b) Explain the industrial contribution of Mr. Sanjeev Bhikchandani. [7]


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2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-1814

àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) Eg.EM. Or. åhUOo ...................

A) Amamo½` ~MZ JQ>

~) ñd`§ ghmæ`Vm JQ>

H$) g_mZ ghmæ`Vm JQ>

ii) ^maVm_Ü`o .................. gmbr ñd`§ ghmæ`Vm JQ>mMr gwê$dmV Pmbr.

A) 1980
~) 1992
H$) 1996

iii) ^maVmVrb gdm©V _moR>o joÌ åhUyZ ................ joÌmMm CXç hmoVmo.

A) V¥Vr`H$

~) àmW{_H$

H$) {ÛVr`

iv) godm joÌm_Ü ò ................. ̀ m H¥$VrMm g_mdoe hmoVmo.

A) eoVr

~) dmhVyH$

H$) _mgo_mar

P.T.O.
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v) Amo. dm`. Amo. ê$åg `m H§$nZrMr gwê$dmV ................. dfu Pmbr.
A) 2013
~) 2010
H$) 2020

vi) B©S>rnr åhUOo ...................
A) CnH«$_ {dH$mg H$m ©̀H«$_

~) CXçmoOH$Vm {dH$mg H$m`©H«$_
H$) CXçmoOH$ {dH$mg H$m ©̀H«$_

~) OmoSçm bmdm. [5]
 JQ> "A'  JQ> "~'

i) OmJ{VH$sH$aU A) Q>mQ>m CX`moJ
ii) lr. aVZ Q>mQ>m ~) godm joÌ

iii) Xÿag§Mma H$) 1991
iv) gm_m{OH$ A§Va S>) 10-20
v) ñd §̀ ghmæ`Vm JQ>mVrb gXñ` B) àmW{_H$ joÌ

\$) H$mo{dS> - 19
`) 20-30

àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) ñd §̀ ghmæ`Vm JQ>mMr CËH«$m§Vr
~) godm CXç_mMo àH$ma
H$) lr. amYm{H$eZ X_mZr

S>) CXçmoOH$Vm {dH$mgmVrb gm§ñH¥$VrH$ AmìhmZo

àíZ 3) A) JQ> CX`moOH$VoMo VmoQ>o ñnï> H$am. [8]
~) J«m_rU ^mJmVrb godm CXçmoOH$s` g§YrMr MMm© H$am. [7]

àíZ 4) A) CXçmoOH$Vm {dH$mgmVrb AmìhmZm§Mr MMm© H$am. [8]
~) lr. g§Ord {^H$M§XmZr `m§Mo CXçmoJmVrb `moJXmZ ñnï> H$am. [7]


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Q1) a) Fill in the blanks (Attempt any 5) : [5]
i) ________ is the marketing of products and services that are

presumed to be environmentally safe.
(Green marketing, Digital marketing, Marketing mix, Social media
marketing)

ii) Face book is an example of ______ .
(Green marketing, E-marketing, Rural marketing, Marketing mix)

iii) _________ is an example of business to business services.
(Yahoo, Youtube brand channel, Google, Chrome)

iv) International marketing ensures _________ utilisation of resources.
(Minimum, Maximum, Normal, Proper)

v) On-line advertisements are __________.
(Expensive, Entertaining, Time consuming, Personal)

vi) __________ help to protect the environment.
(E-marketing, Green marketing, Digital marketing, Social media marketing)

b) Match the following : [5]
      Group 'A' Group 'B'

i) Green Marketing a) Savings in marketing cost
ii) E-marketing b) Plastic ban
iii) On-line marketing c) Increase in technology
iv) Web - analytics d) Face book
v) International marketing e) Statistical information

f) Marketing mix

SEAT No. :

P.T.O.



[5952]-413 2

Q2) Write short notes (Any 2) : [10]
a) Strategies of Green marketing
b) Challenges before E-marketing
c) Content marketing
d) Facets of International marketing

Q3) a) Define Green marketing. Explain the various objectives of Green marketing.
[8]

b) What is meant by E-marketing? Explain the advantages of E-marketing.[7]

Q4) a) What do you mean by Digital marketing? Explain how digital marketing is
different from traditional marketing? [8]

b) Define International marketing. Explain the forces influencing International
marketing. [7]


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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 50

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-1815

àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ............... ho Aem dñVw qH$dm godm§Mo {dnUZ AgVo H$s, Á`m dñVw d godm
n`m©daUmgmR>r gwa{jV AgVmV.

(h[aV {dnUZ, {S>{OQ>b {dnUZ, {dnUZ {_l, gm_m{OH$ àgma_mÜ`_mÛmao {dnUZ)

ii) \o$g~wH$ ho ........... Mo CXmhaU Amho.

(h[aV {dnUZ, B-{dnUZ, J«m_rU {dnUZ, {dnUZ {_l)

iii) ................ ho ì`dgm` Vo ì`dgm` godm§Mo CXmhaU Amho.

(`mhþ, ẁQ>çw~ ~«m°S> M°Zb, JwJb, H«$mo_)

iv) Am§Vaamï´>r` {dnUZ g§gmYZm§Mm ............... dmna gw{ZpíMV H$aVmV.

({H$_mZ, H$_mb, gd©gmYmaU, `mo½`)

v) Am°ZbmBZ Om{hamVr .............. AgVmV.

(IMuH$, _Zmoa§OH$, doiImD$, d¡̀ {ŠVH$>)

vi) ............... _wio n`m©daUmMo g§ajU hmoVo.

(B-{dnUZ, h[aV {dnUZ, {S>{OQ>b {dnUZ, gm_m{OH$ àgma_mÜ`_mÛmao {dnUZ)

P.T.O.
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~) OmoSçm bmdm. [5]

JQ> "A' JQ> "~'

i) h[aV {dnUZ A) {dnUZ IMm©V ~MV

ii) B-{dnUZ ~) ßbmpñQ>H$ ~§Xr

iii) Am°ZbmB©Z {dnUZ H$) V§ÌkmZ dmT>

iv) do~ A°Z°bo{Q>Šg S>) \o$g~wH$

v) Am§Vaamï´>r` {dnUZ B) gm§p»`H$s _m{hVr

\$) {dnUZ {_l

àíZ 2) {Q>nm {bhm. (H$moUVohr 2) [10]

A) h[aV {dnUZmMr ì ẁìhaMZm

~) B-{dnUZmg_mo[ab AmìhmZo

H$) gm_J«r {dnUZ / g_m{dï> {dnUZ

S>) Am§Vaamï´>r` {dnUZmMo {d{dY n¡bw

àíZ 3) A) h[aV {dnUZ åhUOo H$m`? h[aV {dnUZmMr CX²{ï> ò gm§Jm. [8]

~) B-{dnUZmMm AW© gm§Jm. B-{dnUZmMo \$m`Xo {bhm. [7]

àíZ 4) A) {S>{OQ>b {dnUZ åhUOo H$m`? nma§nm[aH$ {dnUZ d {S>{OQ>b {dnUZ `m_Yrb \$aH$
gm§mJm. [8]

~) Am§Vaamï´>r` {dnUZmÀ`m ì`m»`m gm§Jm. Am§Vaamï´>r` {dnUZmda n[aUm_ H$aUmao KQ>H$ /
àdmh gm§Jm. [7]


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Q1) A) Fill in the blanks (Attempt any 5 out of 6) [5]
i) The Active soil forming factor ________

a) Climate b) Relief
c) Organism d) Climate and organism

ii) _________ is not component of farm business.
a) Land b) Capital
c) Labour and management d) Air

iii) _________ is adopted to desert condition.
a) Goats b) Buffaloes
c) Camels d) Caws

iv) External commercial Borrowings (ECBS) form part of _______
a) Current Account b) Capital account
c) Balance of payment d) Balance of Business

v) Productivity =
a) Input/output b) output/input
c) output-input d) Input-output

vi) Productivity is the __________ of production system.
a) Measurement
b) Efficiency
c) Measurement and Efficiency
d) Capital

SEAT No. :

P.T.O.
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B) Match the following. [5]
i) Debenture a) Source of Industrial Finance
ii) Agricultural Risk b) Output per man Hour of labour
iii) Productivity c) Public sector
iv) Canara Bank d) DMI
v) AGMARK e) Price Fluctuation

Q2) Write a Short Notes on the following (Any 2 out of 4) : [10]
a) Types of Farming
b) Farm management
c) Importance of productivity in competative environment
d) Productivity Measurement

Q3) a) Define Farm management. Explain the Scope and objectives of Farm
Management. [8]

b) Explain the strategies to manage the Risk and Uncertainty in Agriculture.[7]

Q4) a) Explain the various sources of Industrial Finance. [8]
b) Explain the need of Foreign capital. [7]


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3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1816

àíZ 1) A) [aH$må¶m OmJr ¶mo½¶ eãX ^am. (6 n¡H$s H$moUË¶mhr 5) [5]
i) ‘mVr V¶ma H$aÊ¶m‘Ü¶o .............. ho/hm KQ>H$ gH«$s¶ Amho.

A) hdm‘mZ ~) ^m§S>db
H$) Ord S>) hdm‘mZ Am{U Ord$

ii) ............ hm eoVr ì¶dgm¶mVrb KQ>H$ Zmhr.
A) O‘rZ ~) ^m§S>db
H$) H$m‘Jma Am{U ì¶dñWmnZ S>) hdm

iii) dmid§Q> pñWVrV ............ àmUr nmibm OmVmo.
A) eoù¶m ~) åher
H$) C§Q> S>) Jm¶r

iv) ~mø ì¶dgm{¶H$ H$O© ............ Mm ^mJ Amho.
A) Mmby ImVo ~) ^m§S>dbr ImVo
H$) ì¶dhma Vmob S>) ì¶mnma Vmob

v) CËnmXH$Vm =
A) AmXmZo/àXmZo ~) àXmZo/AmXmZo
H$) àXmZo-AmXmZo S>) AmXmZo-àXmZo

vi) CËnmXZ àUmbrMr CËnmXH$Vm hr ............... Amho.
A) ‘moO‘mn ~) H$m¶©j‘Vm
H$) ‘moO‘mn Am{U H$m¶©j‘Vm S>) ^m§S>db

P.T.O.
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~) OmoSçm Owidm. [5]
i) {S>~|Ma A) H§$nZrgmR>r {Xbobo H$O© ^m§S>db

ii) H¥$fr YmoH$m ~) l‘àVr ‘Zwî¶ Vmg CËnmXZ

iii) CËnmXH$Vm H$) gmd©O{ZH$ joÌ

iv) H°$Zam ~±H$ S>) {S>. E‘. Am¶.

v) A°J‘mH©$ B) qH$‘V MT> CVma

àíZ 2) {Q>nm {bhm. (4 n¡H$s H$moUË¶mhr 2) [10]
A) eoVrMm àH$ma

~) eoVr ì¶dñWmnZ

H$) ñnYm©Ë‘H$ dmVmdaUmV CËnmXH$VoMo ‘hËd

S>) CËnmXZ ‘mnZ

àíZ 3) A) eoVr ì¶dñWmnZmMr ì¶m»¶m H$am. eoVr ì¶dñWmnZmMr ì¶már Am{U CX{X²ï>¶o ñnï> H$am.[8]
~) H¥$fr joÌmVrb YmoH$m Am{U A{ZpíMVVm ì¶dñWmnZmÀ¶m ì¶haMZm ñnï> H$am. [7]

àíZ 4) A) Am¡X²¶mo{JH$ {dÎmmMo {d{dY ñÌmoV ñnï> H$am. [8]
~) naH$s¶ ^m§S>dbmMr JaO ñnï> H$am. [7]


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Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define the Indian economy.

b) Define war finance.

c) Define third world countries.

d) State the role of the department of Defence production.

e) Define war time economy.

f) What is a peacetime economy?

Q2) Attempt any four of the following : [4 × 5 = 20]

a) DRDO

b) War potential

c) Arms production

d) Rationing

e) Inflation

SEAT No. :
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Write salient features of the Indian economy.

b) Explain the role of the department of defence expenditure.

c) Explain source of finance.

d) Explain third world countries’ meaning and concept.

e) Explain military industrialization.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain Indian Defence spending from 1947 to till date.

b) Explain the relevance of the arms production to third world countries.

c) Explain in detail the importance of DRDO in war.


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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) ^maVr` AW©ì`dñWm ì`m»`m Úm.

~) dm°a \$m`ZmÝg ì`m»`m Úm.

H$) {Vgè`m OJmVrb amï´> ì`m»`m Úm.

S>) g§ajU CËnmXZ {d^mJmMr ŷ{_H$m gm§Jm.

B) ẁÕH$mbrZ AW©ì`dñWm ì`m»`m Úm.

\$) em§VVm H$mbrZ AW©ì`dñWm åhUOo H$m`?

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) S>r Ama S>r Amo

~) `wÕ J{V_mZVm

H$) eñÌmñÌo CËnmXZ

S>) aoeqZJ

B) MbZdmT>

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ^maVr` AW©ì`dñWoMo gwá d¡{eï>ç {bhm.

~) g§ajU IM© {d^mJmMr ŷ{_H$m {bhm.

H$) gmog© Am°\$ \$m`ZmÝg ñnï> H$am.

S>) {Vgè`m OJmVrb amï´> AW© Am{U g§H$ënZm gm§Jm.

B) bîH$ar Am¡ÚmoJrH$aU ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) 1947  Vo AmOn ª̀VÀ`m g§ajU IMm©Mo g{dñVa {díbofU H$am.

~) {Vgè`m OJmVrb amï´>m§À`m eñÌmñÌ CËnmXZmMm aobodÝg ñnï> H$am.

H$) ẁÕmVrb S>r Ama S>r Amo Mo _hËd g{dñVa {deX H$am.





Q1) a) Fill in the blanks (Any 5) : [5]

i) The pull factor in tourism is ________

a) rest & relaxation

b) escape

c) amenities

ii) A visitor who stays in the country visited for at least one night is
known as __________.

a) visitor

b) resident

c) tourist

iii) Which of the following is a secondary component of tourism?

a) Hawkers

b) Catering

c) Tour operator

iv) What is the ratio of FDI in the accommodation sector in India?

a) 49%

b) 51%

c) 100%
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v) In which year the Government of India introduced National Action
plan?
a) 1982
b) 1988
c) 1992

vi) The term 'Gastronomy' refers to an aspect of ______
a) space tourism
b) medical tourism
c) culture tourism

b) Match the following : [5]
'A' Group 'B' Group

i) Tourism a) Covers a wide variety of
services

ii) Visit to Mecca b) By exchanging currencies in
global market

iii) Water Tourism c) Crusing
iv) Tourism product d) Cultural attractions
v) Foreign Exchange Earnings e) Travel for pleasure.

f) Religious Tourism.
g) 5% of world GDP

Q2)  Short Notes (any 2) : [10]
a) Significance of Tourism
b) Business Tourism
c) Environmental Impact of Tourism
d) Employment Generation in Tourism sector in India

Q3) a) Explain the different types of tourism. [8]
b) State the Health Tourism in detail. [7]

Q4) a) Explain the socio-cultural Impact of Tourism. [8]
b) State the Tourism Infrastructural Development in India. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUVohr 5) … [5]

i) n`©Q>ZmVrb nwb KQ>H$ ............... Amho.

A) {dlm§Vr Am{U {Zdm§VnUm

~) gwQ>Uo

H$) gw{dYm

ii) {H$_mZ EH$ amÌ ôQ> {Xboë`m XoemV amhUmè`m Aä`mJVmbm .............. åhUyZ
AmoiIbo OmVo.

A) Aä`mJV

~) a{hdmgr

H$) n`©Q>H$

iii) Imbrbn¡H$s H$moUVm n ©̀Q>ZmMm Xþæ`_ KQ>H$ Amho.

A) \o$ardmbo

~) ImZnmZ

H$) Qy>a Am°naoQ>a

iv) ^maVmVrb {Zdmg joÌm_Ü ò WoQ> naH$s` Jw§VdUwH$sMo à_mU {H$Vr Amho.

A) 49%

~) 51%

H$) 100%

3 P.T.O.
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v) ^maV gaH$maZo amï´>r` H¥$Vr `moOZm H$moUË`m dfu bmJy Ho$br?

A) 1982

~) 1988

H$) 1992

vi) "J°ñQ´>moZm°_r' hm eãX EH$m .................. n¡bybm g§X{ ©̂V H$aVmo?

A) A§Vami n ©̀Q>Z

~) d¡ÚH$s` n`©Q>Z

H$) gm§ñH¥${VH$ n ©̀Q>Z

~) OmoS>çm Owidm … [5]

"A' JQ> "~' JQ>

i) n ©̀Q>Z A) {d{dY àH$maÀ`m godm§Mm g_mdoe

ii) _H$imbm ôQ> ~) OmJ{VH$ ~mOanoR>oV MbZm§Mr XodmUKodmU

iii) Obn`©Q>Z H$) H¥$qPJ

iv) n ©̀Q>Z CËnmXZ S>) gm§ñH¥${VH$ AmH$f©U

v) naH$s` MbZ H$_mB© B) AmZ§XmgmR>r n ©̀Q>Z

\$) Ym{_©H$ n ©̀Q>Z

`) OmJ{VH$ OrS>rnrÀ`m 5%

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm (H$moUË`mhr 2) … [10]

A) n ©̀Q>ZmMo _hÎd

~) ì`mdgm{`H$ n`©Q>Z

H$) n ©̀Q>ZmMm n`m©daUr` n[aUm_

S>) ^maVr` n ©̀Q>Z joÌmVrb amoOJma {Z{_©Vr

àíZ àíZ àíZ àíZ àíZ 3) A) n ©̀Q>ZmMo {d{dY àH$ma ñnï> H$am. [8]

~) "Amamo½` n ©̀Q>Z' Vnerbdma gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) n ©̀Q>ZmMm gm_m{OH$ - gm§ñH¥${VH$ à^md ñnï> H$am. [8]

~) ^maVmVrb n ©̀Q>Z nm`m ŷV gw{dYm§Mm {dH$mg gm§Jm. [7]





Q1) a) Fill in the blanks (any five) : [5]

i) ________ statement is used to add new row of data to a table in
the database.

a) Update b) Insert

c) Drop d) Select

ii) DSN stands for _________.

a) Data source mode b) Data source name

c) Data side mode d) Data sink mode

iii) _______ statement is used to add, delete or modify column in an
existing table.

a) Update b) Insert

c) Alter d) Delete

iv) _______ Command is used to save changes invoked by transaction
to the database.

a) Update b) Rollback

c) Commit d) Drop

v) ________ function returns the systems current date and time.

a) New-Time b) Last-day

c) Sysdate d) Time
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vi) ________ statement is used to remove privileges assigned to user.

a) Rollback b) Revoke

c) Grant d) Commit

b) Match the pairs : [5]

Group I Group II

i) DDL a) UPDATE

ii) DML b) CREATE

iii) DCL c) ROLLBACK

iv) TCL d) GRANT

v) LIKE e) %, –

f) ¦¦, &&

Q2) Answer the following questions : [15]

a) What are the disadvantages of RDBMS?

b) Write select command with all options.

c) Employee table having following structure :

(Emp_id, emp_name, J_date, salary)

i) Create employee table with above given structure.

ii) Display all records of employee having Joining date as
15-May-2022.

iii) Add following record to employee table.

(01, Ravi Raj, 15-June-2022, 40000)

iv) Delete Record of employee having Emp_id = 01

v) Change employee name of employee id = 05 to “Amit Deo”.

Q3) Answer the following questions : [15]

a) Explain datatypes of SQL

b) Explain comparison operators of SQL

c) Write any five numeric functions of SQL
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Q4) Answer the following questions : [15]

a) Explain types of SQL JOINS.

b) Write an IN and BETWEEN operator.

c) Explain syntax of sequence.

Q5) Answer the following questions : [15]

a) Explain purpose of using subquery.

b) Write an SET operators.

c) Write an EXISTS and NOT EXISTS operator.

Q6) Write short notes on following (any 3) : [15]

a) Primary key

b) Foreign key

c) ADO

d) DSN

e) DDBMS


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Q1) A) Fill in the Blanks. [5]

a) ________ is called as processed data.

i) Domain ii) Decision

iii) Information iv) System

b) A _______ is a collection of parts that linked to achieve a common
purpose.

i) Data ii) System

iii) Information iv) Feedback

c) DSS is an application for Information systems that helps in ______.

i) System Design ii) System Monitoring

iii) Decision Making iv) Information Storage

d) ESS has ____ components.

i) 1 ii) 2

iii) 3 iv) 4

e) To run _______ system, trained and experienced employees are
needed.

i) ERP ii) DSS

iii) ESS iv) MIS

SEAT No. :

P.T.O.
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B) Match the following. [5]

Column A Column B

i) Operational Management a) MIS

ii) Tactical Management b) Finance

iii) Strategic Management c) Software

iv) Component of MIS d) DSS

v) Component of ERP e) TPS

Q2) Write short note on the following (Any two) : [10]

a) ERP Applications

b) Decision Support System

c) MIS

Q3) Answer the following (Any four) : [20]

a) What do understand by Executive Support System? Explain.

b) What are the types of decision support system? Explain in brief.

c) What are the features of ESS?

d) Why MIS is needed? Explain

e) What are the various components of DSS?

Q4) Answer the following Question (Any one) : [10]

a) What is ERP? Explain scope and features of ERP.

b) What is Information Systems? Explain briefly types of Information
System.





Q1) A) Fill in the blanks : [1 × 5 = 5]

i) Sub elements of product mix includes ........................

a) New product development

b) Branding

c) Packaging

d) All the above

ii) ________ ensures repeat purchase and helps marketers overcome
competition from other firms.

a) Brand awareness b) Brand loyalty

c) Brand association d) None of the above

iii) __________ is not a part of marketing mix.

a) Product b) Purpose

c) Place d) Price

iv) Social media marketing focuses on _________.

a) Social platform b) Individual shop

c) Whole sale d) All of the above

v) Which term is adopted for updates by Twitter users?

a) Tweets b) Twoots

c) Twinks d) Posts

Total No. of Questions : 4]
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B) Match the following : [5]

A B

i) Micro blogging a) Brand

ii) It is specific name, b) Promotion mix

symbol or design

iii) Credit or Discount c) Post very short entries

iv) Coupons d) Place mix

v) Channel of distribution e) Price mix

Q2) Short Notes: (Any 2) [10]

a) Web advertising.

b) Elements of product mix.

c) Types of branding.

Q3) Answer the following questions: (Any 4) [20]

a) Write a note on AIDAS.

b) Write techniques of sales promotion.

c) State the functions of branding.

d) Social media advertising.

e) Write sub elements of price mix.

Q4) Answer the following: (Any 1) [10]

a) What do you mean by marketing mix? Explain in brief elements of
marketing mix.

b) Differentiate between online sales promotion and in store sales
promotion.


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Q1) a) State following statements are true of false (any 5) : [5]

i) Advance tax is to be paid in 3 instalments.

ii) Maximum interest allowable on partners’ capital is 10%.

iii) Certain domestic companies can opt special rate of 25%.

iv) Speculation loss can be carry forward for 6 years only.

v) Apex Appealing income tax authority is CBDT.

vi) Maximum penalty in case of failure to get books of account audited
under section 44AB of Income Tax Act is Rs. 1,50,000.

b) Fill in the blanks (any 5) : [5]

i) Provision of inter source is given under following section
___________.

(Section 70, Section 71, Section 72, Section 73)

ii) Minor child income is clubbed in the income of __________.

(Mother, Father, Guardian, Parents whose GTI is higher)

SEAT No. :
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iii) Rate of income tax for partnership firm is __________.

(20%, 30%, 40%, 10%)

iv) Return whom to be verified is given under following section
___________.

(140, 140A, 139(1), 141AA)

v) Basic exemption limit for company is __________.

(Rs. 10,000, Rs. 2,00,000, Rs. 2,50,000, NIL)

vi) Provision regarding default in payment of advance tax is given under
following section __________.

(Section 234A, Section 234B, Section 234C, Section 234F)

Q2) Write short notes on (Any 2) : [10]

a) Provision of return whom to be verified.

b) Tax deducted at source u/c 194J.

c) Provisions for carry forward and set of Non speculation business loss.

d) Interest for deferment in payment of Income tax.

Q3) a) Types of Assessment under Income tax Act. [15]

b) Various Income tax authorities under Income tax Act.

Q4) Explain the following provisions related to Company. [15]

a) Book Profit

b) Minimum alternate tax

c) Tax rates applicable to various companies
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Q5) Following is the profit and Loss account of SD and Co. (a partnership firm)
for the year ending 31-3-2022 is as follows : [15]

Particulars Amount Rs. Particulars Amount Rs.

Cost of goods sold 10,00,000 Sales 18,00,000

Remuneration to partners 4,49,000 Rent of house 60,000
property

Interest to partners 60,000 Dividend 1,70,000
@18% p.a.
Municipal tax of 25,000
house property
Other expenses 2,36,000

Net Profit 2,60,000

Total 20,30,000 Total 20,30,000

Other information :

a) Out of the other expenses, Rs.18,400 is not deductible u/s 36,37(1) and
43B.

b) On 15-1-2022, the firm pays an outstanding GST liability of Rs. 54,700
of the previous year 2020-21. As this amount pertains to the previous
year 2021-21, it has not been debited to the aforesaid Profit and Loss
account.

Compute the income from business of the SD and Co. for the AY 2022-23
assuming that the firm does not opt for presumptive taxation scheme.


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Q1) A) Fill in the blanks : [5]

a) _____ tag is used to scroll piece of text or image on web page.
i) scroll ii) move
iii) roll iv) marquee

b) Which of the following is relational operator in JavaScript?
i) ++ ii) >=
iii) ! iv) /

c) Which of the following element is responsible for making the text
bold in HTML?
i) <i> ii) <bd>
iii) <b> iv) <bl>

d) _____ tag is used to display images in HTML.
i) image
ii) img
iii) display
iv) imgshow

e) A collection of elements of the same data type is called _____.
i) String
ii) Array
iii) Object
iv) Variable

SEAT No. :
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B) Match the following : [5]

a) <marquee> i) most important heading
b) H1 ii) tag contains information about

web page
c) For iii) tag used to scroll text
d) <head> iv) least important heading
e) H6 v) JavaScript loop

Q2) Write short note on (Any TWO) : [10]
a) Arithmetic Operator in JavaScript
b) Frame tag in HTML
c) Unordered list in HTML
d) Body tag in HTML

Q3) Answer the following (Any FOUR) : [20]
a) What is hyperlink? How hyperlink is created in HTML? Explain tag with

syntax and example.
b) Explain while loop in JavaScript with syntax and example.
c) Explain <font> tag in HTML with attributes.
d) What is variable in JavaScript? Explain.
e) Explain image tag with syntax and example.

Q4) Answer the following : [10]

a) What is Array? Explain Arrays in JavaScript with example.

b) Explain table tag in HTML. Explain <tr> and <td> tag with syntax and
example.





Q1) A) Fill in the blanks : [5]

i) It is the process of introducing new product in market.

a) Product life cycle

b) Product like cycle

c) New product development

d) Product image cycle

ii) In Growth stage of product life cycle sales are

a) very high b) very low

c) moderate d) rapidly increasing

iii) In process of selling getting more information about prospective
customers known as

a) Idea presentation b) Pre approach

c) Marketing d) Prospecting

iv) _________ are emotions behind purchase of products

a) Buying motives b) Selling motives

c) marketing decisions d) Bargaining motives

v) This is most used medium for social marketing.

a) Instagram b) e-mail

c) posters d) Website
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B) Match the pairs : [5]

i) Introduction stage a) Low sales

ii) Maturity stage b) More intensive distribution of
goods

iii) It is specific name, c) Brand

picture or design

iv) Multiple use of product d) Emotional Buying motives

v) Love and affection e) Rational buying motive

Q2) Write short note on ( any 2) : [10]

a) After sales services

b) Types of customers

c) Rational buying motives

d) Online marketing

Q3) Answer the following (any 4) : [20]

a) Packaging and labelling of product

b) Emotional buying motives

c) Green marketing

d) Direct Marketing

e) Services Marketing

f) Patronage buying motives

Q4) Answer the following (any 1) : [10]

a) Explain in detail process of selling.

b) Write detail note various types of customers.





Q1) A) State whether the following statement is TRUE or FALSE. [5]

i) The time limit to pay the value of supply with taxes to avail the input
tax credit is 180 days.

ii) Proportionate credit for capital goods is allowed for business and
non-business purpose.

iii) The details of outward supplies shall include details of debit notes,
credit notes and revised invoices issued in relation to outward
supplies.

iv) Input tax credit fully restricted in case of switchover from taxable
to exempt supplies.

v) A payment voucher need not be raised if the supplier is an
unregistered person.

B) Choose correct answer (Any Five) : [5]

i) Invoice-wise details of Supplies made by Taxable person are filed
in_______

a) GSTR-1 b) GSTR-2

c) GSTR-3 d) GSTR-9
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ii) Input Tax credit as credited in Electronic Credit ledger can be utilized
for ________

a) Payment of Interest b) Payment of penalty

c) Payment of Fine d) Payment of Taxes

iii) Annual audit report is required to be certified by practicing ______

a) CA b) CMA

c) CA or CMA d) MCA

iv) Provisional Input tax credit can be utilized against _______

a) Any Tax liability

b) Self-Assessed Output Tax liability

c) Interest and Penalty

d) Fine

v) Final return shall be furnished in the form ________

a) GSTR-2 b) GSTR-5

c) GSTR-10 d) GSTR-9

vi) Form no______ return is required to be furnished for outward
supplies made by the registered person.

a) GSTR-1 b) GSTR-1B

c) GSTR-2 d) GSTR-2B

Q2) Write Short Notes (Any Two) : [10]

a) Tax Deducted at Source under GST

b) Self-assessment under GST law

c) Input tax credit

d) Bill of Supply
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Q3) Answer the following questions (Any Four) : [20]

a) Explain the provisions regarding assessment of unregistered persons under
GST.

b) How will transfer of credit on account of sale, merger. amalgamation etc.
be effected?

c) What is the maximum time limit to claim the Input tax credit?

d) What are the conditions applicable to Input service distributor to distribute
the credit?

e) What is the difference between the Input tax credit in case of Compulsory
Registration and Voluntary Registration?

f) Give details about the contents of GSTRI.

Q4) Answer any One of the following questions: [10]

a) What are the different types of GST returns and due dates thereon?

b) Explain the various provisions of Audit by tax authorities.


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